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OXISotsSHIE IAH| X2 (419
1,690,000,000& 1,690,000
[ 845,000
= 253,500
Al 591,500
KFotsdE K& AKE 220,188 220,192 N4
== 38,624
Al 181,564
301 22N 93,480 93,480 0
[ 13,284
Al 80,196
03 AL 2 & A 263 (X E) 24,600 24,600 0
OXISOtSHIE! SAHL S22 X2
300, 0003 *41H 23] 24,600
14 DBt 2 a3 68,880 68,880 0
OXGOtSHE SAL S8
90,0002 x41H 128 44,280
s 13,284
Al 30,99
OXIS0tsHIE SAIR SE2H(XHA)
50,0003 x41H 12 24,600
307 el2tol & 126,708 125,712 9%
= 25,340
Al 101,368
10 Al SXAAEEHE 22X 126,708 125,712 9%
Os84=20l XI& 42,228,000 42,228
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< 12,668
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OXISotsHlE 2l =IOt (<H])
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BNl SFE A K& 96,040 96,040 0
& 28,812
Al 67,228
307 glztol & 96,040 96,040 0
S 28,812
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OBACIR] TRY UMY
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= 28,812
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AFotsdE 0I180ts s4H XI& 784,000 842,800 58,800
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Al 627,200
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OXS0tsHE 0180t SAHl X1
7,000 *4002 280 784,000
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NS0ISHE 2ZHe X3 45,000 40,000 5,000
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= 11,250
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OXS0otsHE el N
45,000,000 45,000
= 22,500
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NSOLSHE A F& 15,000 15,000 0
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OXSOtSHE tite S2&R AL
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NSOISHE SAHL 21AH] 28+E 98,400 0 98,400
=S 29,520
Al 68,880
301 LEtE NS 98,400 0 98,400
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03 AR 2EHFS(XILH) 98,400 0 98,400
OXISIOtSHIE! SALA 21| 28+&
200,000 x41H 12 98,400
= 29,520
Al 68,880
HE=A S8 1,155,096 1,224,969 A\69,873
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Jl 94,647
== 70,160
Al 639,866
HEMZLoIHE 24 742,097 834,542 A92,445
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7l 94,647
= 70,160
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MEHE 23 1,676 1,676
201 ger=3| 1,676 1,676
01 AtR2te|H] 1,676 1,676
OOISMYUHE 27 2HI(X8 L B2
1,676,000 1,676
MY Fotagzz O 29 105,867 101,284 4,583
Il 94,647
Al 11,220
101 @124H| 73,230 67,886 5,344
Jl 62,010
Al 11,220
03 SRA(RIH )22 U2+ 73,230 64,406 8,824
OZGaEA 20i(2Y) 62,010,000 62,010
) 62,010
O aEA S=2H2Y) 7,500,000& 7,500
O GA HZEXRH|
155,000 x2& 12042 3,720
201 223 9,532 9,260 272
Jl 9,532
01 AtR2t2lHI 9,532 9,260 272
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SEEPENECEEERS)
8,900,000 8,900
Jl 8,900
M FHSBLEA 24 177,293 171,657 5,636
= 88,647
== 17,729
Al 70,917
101 e124d| 173,093 163,157 9,936
= 86,547
= 17,309
Al 69,237
03 SR (RIH )22+ 54,270 63,007 A8,737
OFILAEA 201 & +5(12)
41,860,000 41,860
= 20,930
= 4,186
Al 16,744
OF HaEA AZExRHI(1F)
155,000 x1&* 122 1,860
= 930
= 186
Al 744
Od1taoi=(39) 10,550,000 10,550
= 5,275
= 1,085
Al 4,220
M ORNZZ2NSE S 118,823 87,740 31,083
OFLALAMOIZNZ 2L S0d) 118,823
=1k 2,060,740« 1204 3 4 98,916
= 49,458
== 9,892
Al 39,566
— o x==g 78,8808 122 x4H 3,787
= 1,894
== 378
Al 1,515
—4HEZ (M= RE3)
240,000 x 1200 2 ~4H 11,520
= 5,760
== 1,182
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—20234 D122 A EX S
2,300,000 x2&H 4,600
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= 2,100
S 420
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OFdagi 2g243(1g)
4,200,000& 4,200
= 2,100
< 420
Al 1,680
ME A & At=2e] A 29Y 45,250 39,930 5,320
= 22,625
& 4,525
Al 18,100
201 el 27,250 24,830 2,420
= 13,625
s 2,725
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01 At22t2l] 27,250 24,830 2,420
OF YA & At=2te| Al 13,000
—FAA (222 MA S)
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= 1,750
S 350
Al 1,400
—EMLHEH 225, HIE S 7Y
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= 1,250
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—FHUT Al=22l(ML H FS001)
1,000,000 1,000
= 500
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—FHUT A=22(UY 0 ESES)
1,000,000& 1,000
= 500
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—0g3et dE01Y 2,500,000& 2,500
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= 1,250
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= 3,275
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OMHE! BAR A2st 2
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= 3,850
= 770
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202 04dl 7,000 5,500 1,500
= 3,500
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Al 2,800
01 =LHN LI 7,000 5,500 1,500
OMEZHE FHHAH, A=A =
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ELEREESIEEED
500,000%3H 1,500
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—AtZ=2e] K& At =
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= 2,750
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Al 2,200
301 EtE NS 6,000 4,600 1,400
= 3,000
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Al 2,400
14 0Bt 243 6,000 4,600 1,400
OAt= 2l XA ZA=g
5,200,000& 5,200
= 2,600
= 520
Al 2,080
OAIZ 22 MG =QT A =8
4,0002 200 800
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=S 80
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402 2I2E X201 & 5,000 5,000 0
= 2,500
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02 BIENZASEZ (01 THR) 5,000 5,000 0
OMSIIE At=2e|(DIEZHE) RIS AL
& 5,000,000 * 104 2= 5,000
= 2,500
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Al 2,000
MEOEeIE S 197,600 212,800 15,200
= 168,080
= 7,904
Al 31,616
301 EetE2 N = 31,200 33,600 A2,400
= 24,960
= 1,248
Al 4,992
14 DBt 2 a3 31,200 33,600 2,400
OMZNgeE 258eds N 31,200
—M20gelE 258ds N
600,000x52H 31,200
= 24,960
= 1,248
Al 4,992
307 21201 & 166,400 179,200 12,800
= 133,120
= 6,65
Al 26,624
1 AMISXAIEEXS 166,400 179,200 212,800
OMLUEE HEXHS, 1EFHS Al
AOIZEH) 166,400
—MEHgeIe SRS N
2,400,000%5204 2= 124,800
= 99,840
s 4,992
Al 19,968
— M0 deld NE&Hd= N
800, 000%52H A 41,600
= 33,280
== 1,664
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SA: 0181
33 d=A &
Cl: AMZLSIIME 29 (12l M2
SA - ZE . BR() - HRAR - BES of v G o HIDE2
ONYNSE: +UM NHAS AFSAZ
12 & sl X3 2,400,000& 2,400
= 2,400
OXIEEY +2M ISH| N
00,0003 x40 +50, 0002 *40H 6,000
= 6,000
ONYDSER AL UNDE)
38,000,000& 38,000
= 38,000
ME e F -3 wd 29 12,040 18,000 A5,960
< 3,612
Al 8,428
201 er23| 300 600 A300
== 0
Al 210
01 At2teltl 300 600 A300
O0d 7 - FHud =2¢ 300,000 300
S 0
Al 210
301 EtE NS 3,740 8,400 A4,660
< 1,122
Al 2,618
11 dALEEIXIE S 240 360 A120
OOl&% - HDA HOIX B4
3,000& *40 & =22 240
= 72
Al 168
14 DBt 2 a3 3,500 8,040 A4,540
O0l4 3 - BADY BASY
3,500,000& 3,500
== 1,050
Al 2,450
307 glztol & 8,000 9,000 A1,000
= 2,400
Al 5,600
12 2I2HOI R & = H| 8,000 9,000 1,000
004 3 - zeina fig 2o
8,000,000& 8,000
= 2,400
Al 5,600
MEHE SAX gSHl X3 16,800 16,800 0
[ 5,040
Al 11,760
101 @124H| 9,600 7,200 2,400
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< 2,880
Al 6.720
M ORIMZZ2NSE S 9,600 7,200 2,400
OMLME SAXE HEHI X2 (JI2HR)
200,0002 x 1204 2 »4H 9,600
= 2,880
Al 6,720
202 04| 7,200 9,600 2,400
== 2,160
Al 5,040
01 =LHOLI 7,200 9,600 2,400
OMLHIE SALL 28Hl XI& A (SR2)
200,000 x 1201 2«3 7,200
= 2,160
Al 5,040
JE0ISHS A N2A 55,000 172,800 A117,800
= 16,500
Al 38,500
301 EtE NS 55,000 172,800 A117,800
== 16,500
Al 38,500
14 0Bt 2as 55,000 172,800 A117,800
02024 HRSHOIS BHOIS BISH ARl
K& 500,000 *110H 55,000
S 16,500
Al 38,500
d20d d8Ms A8y XA 49,500 0 49,500
= 14,850
Al 34,650
307 @I2t01 & 49,500 0 49,500
s 14,850
Al 34,650
11 ARRIS XA E X 49,500 0 49,500
OZdUSUE HEXHS
5,500,000+9H 49,500
< 14,850
Al 34,650
He=atdE 29 412,99 390,427 22,572
Hdzattist 29 309,328 324,856 N 15,528
201 er23| 70,828 75,728 24,900
01 AtR2t2|HI 18,968 19,168 A200
OOIMSEHS 228 U AN 2F 142
NES 1,000,000 %371 3,000
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Oy E=hle WEES 8 & =FAl2c
]l 6,500,000& 6,500
Od2=+Jl € ditsX2elt]
373,803 * 12 4,487
£UR N 248
475,000 37| 1,425
SAMHE MBS
100,000 100
Old=atdlitizd =&l
3,456,000 3,456
2 S22l 51,860 56,560 24,700
Or&es iz 17,3002 12 208
Oxtg gz & !Xl
24,537,000& 24,537
Oogelt JtA ArgE
4,800 x24m' x 122 1,383
Oo&IIe3 1,700,000~ 128 20,400
Odote=k 2= 150,000& «12& 1,800
OR0t =54 271 22l e HYES=
132,0002 %12 132
OAlE EHIS Xl 900
—T 9 HAFY| 22l
450,00021 14! 450
— S| =cl 450,000 14 450
OXIgH QelZ oAl His Bt B3 At
2,500,000& %14 2,500
202 04| 6,640 6,640 0
01 2LHA b 6,640 4,600 2,040
Ooid=stis 28 82 & +~2Zd HEH
A 2 6.,640,000& 6,640
301 EtE NS 216,360 225,988 29,628
14 IIEt2 8= 216,360 225,988 N9,628
ONd=zstiist 2A=g 212,040
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Jledd td ZAg 38,520
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50,0003 x1 Al 2++242]+30[+3H= 10,800
RS
30,0003 *2A| 2+x242]+30[+3 0t = 12,960
Il=
50,0002 x 1Al 2+ 122/ 30| +4 0t = 7,200
A
30,0003 #2A| 2+ 122]+30[+3 0t = 6,480
RS
30,0003 *1AI2++122]+30 [+ 10t= 1,080
S0l S SAE 57,960
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P
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1
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P
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NBE WE ZA=sE 86,760
|2
50,0002 * 1Al 2tx363] 30| x 104 = 5,400
P
30,000%2A1 2362 +30 | *10t= 6,480
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P
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xJ|2
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1
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PE
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O=0t =E4& HHHI| 2L
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ORU&X % 8,8 S
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01 M=l 4,046 4,046
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A HEIED
ma: ojd=x =7
el HE 2ty 28 (SH9 H2)
SA - B BRA(SH) - HRA - of v G o HIDE2
—X8s MM 2 1,265
- Z2HE LED oHE D|(32MW)
10,0002 %144 140
- LED 2FED1(50W) 25,0003 * 1404 2 350
pLm 3,50024+507H 175
SolS AmE(lN) BZ P
30,0002 *20H 600
NEE+8 I F 1,625,000 1,625
O 423l =sof 7 300,000& 300
401 AlE2BIL S THYI 40,000 40,000
01 Al&H| 40,000 40,000
OU4EotlE S& S+ Ld+3At
40,000,000& 14] 40,000




